








































































































































































































































































































  2CH.      تجميع الأخضر لأفكار الأسئلةو الأصفر للأجوبة

 نص هوند جاب RulesHund .انو تعبي حبة حبة بعدين تبدأ تزاوج : 

  مليكان بتجربة قطرة الزيتمين اكتشف شحنة الالكترون 

 علشانهم كأنو اثنين في نفس الاتجاه. نص باولي ؟التوزيع الي يوري الاتجاه ويقول ايش الي يعارض جاب 

 كم الكترون فf 14 ؟ 

 الدرس الأخير يقولك مثلاً الIE  حقت البوتاسيوم أكبر من أي واحد من العناصر  

  25مركب فيه isotopes فيه؟ النيتروناتكم عدد  قلي 

  2٠٧اللي عددو حو تدورو العنصر ترو كم عدد البروتونات فيه 2٠٧الماس تبع عنصر يساوي وجابلي قلي 

 125يطلع  ٨2تنقصوه من و

  تبع اي عنصرانا اختار دا التوزيع و توزيع الكترونيجاء  

  افينيتي الإلكترونو وطاقة التأينالترند نصف القطر  العناصر من حيثمقارنة بين. 

 عناصر و قال هيا في فتره ولا عامود  

  النواهايش اللي لها كتلته كبيره يعني المهم انها  

  دالتون  ؟الذريةمين عمل النظرية. 

   .32*كم الكترون في المستوى الرابع* 

 لجزيء عدد الجراماتO 2S  مول 1.٨في. 

 + الكترون 1خسر . *1الايون اللي له شحنه* 

  الفلورايد لأيونالتوزيع الالكتروني. 

 الصوديوم يعتبر ايش؟ *Metal*  

  فلزات أشباهايش اللي تعتبر*metalloid* ( semiconductor ).  

 

 

 If 2 moles of an element are weighting 54 g .these element is most likely: 

a) Al with molar mass of 27 

b) silver with molar mass of 108 

c) Mg withe molar mass 55 g 

d) P with molar mass 31 g 

 

 the maximum number of electron that can go in the main energy level 3 is : 

a) 8 

b) 18 

c) 32 

d) 10 

 

 Ionization energy is: 

a) the energy in an ion acquires from an electron 

b) higher for potassium that Li 

c) the energy needed to remove the least tightly bounded electron 

d) highest for metals in group 1A (1) 

 

 7-the element rubidium, sodium, potassium? 

a) are in the same group 



 

 

 

 Which of the following element has the greatest ability to lose electrons:  

Francium  

Lithium 

Sodium  

Potassium 

 

 Which statement is incorrect?  

1- atom has mass  

2- atom invisible 

3- each element contains different atom  

4- atom consists subatomic 

 

Zainab Jeddo  
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